5 Port Air Operated Valve

SYA3000/5000/7000 Series

How to Order

A, B port size r—eThread type
Thread piping One-touch fitting (Inch size) Nil Rc
1Symbol Port size IApplicable series| ~ |Symbol Port size |Applicable series| F G
M5 M5 x 0.8 SYA3000| | N3 | One-touch fitting for 05/32" SYA3000 N NPT
01 I SYA5000| | N7 | One-touch fitting for o1/4" T | NPTF
02 Va SYA7000] | N3 | One-touch fitting for 0942
One-touch fitting (Metric size) N7 | One-touch fitiing for a1/4"| SYA5000

" C Bracket
Symbol Port size (Applicable series| N9 | One-touch l!n}ng L z%s“ Nil Without bracket
C4 |One-touch fitting for 04 N9 | One-touch fitting for 0%/46' SYA7000 i Vithout brackef

¥ i SYA3000 | |N11| One-touch fitting for 03/8" F1 With foot bracket
C6 |One-touch fitting for 06 (2 position single only)
C4 |One-touch fitting for a4 . B With side bracket
C6 |One-touch fitting for 66 | SYA5000 Series
€8 |One-touch fitting for 08 3 SYA3000
(C8 |One-touch fitting for 28 5 SYA5000

IC10|One-touch fitting for 610| SYA7000 7 SYA7000

LA SYA
SYA

= Except for M5

3

Series
3 SYA3000
5 SYA5000
7 SYA7000
P, R port
Type of actuation thread type
2 position single Nil Rc
(A)4  2(B) F G
LA N | NPT
(EA)S 1 3(EB) T | NPTF
(P)
2 position double Port size
(W4 2(B) Symbol Port size \Apphoab\eseries
2| <-- Nil Without sub-plate
Ve
(EA)5 1 3(EB) (:]
(P) 0t With sub-plate SYA3000
3 position closed center a
A4 28) 02 | With sub-plate | SYAS000
3 V4
- < 02 ;
With sub-plate
(EA)5 1 3(EB) % P SYA7000
) 03 |
3 position exhaust center With sub-plate
(A4 2(B)
4).¢ .
(EA)5 1 3(EB)
(P)
3 position pressure center
(A4 2(8)
5| W ..
(EA)5 1 3(EB)
(P)

® 1458



5 Port Air Operated Valve S YA3000/5000/7000 Series

Specifications
———
Fluid Air
Operating 2 position single 0.15t0 0.7
pressure range 2 position double —100 kPa to 0.7
MPa 3 position —100 kPa to 0.7
Pilot pressure 2 position single (0.7 x P + 0.1) to 0.7 P: Operating pressure range
range Note ) 2 position double 0.1t00.7
MPa 3 position 0.2t00.7

Ambient and fluid temperature (°C)

—10 to 60 (No freezing.)

Manual override (Manual operation)

Non-locking push type

Lubrication

Not required

Mounting orientation

Unrestricted

Impact/Vibration resistance (m/s?) Note 2

150/30

Note 1) In case of single type, be certain that pressure within operating pressure range be supplied to supply port,
because return pressure is introduced from supply port {1(P)} for activation.

Note 2) Impact resistance:

No malfunction resulted from the impact test using a drop impact tester. The test was
performed on the axis and right angle directions of the main valve and armature, when

pilot signal is ON and OFF. (Value in the initial state)

Vibration resistance: No malfunction occurred

performed to axis and right angle directions of the main valve and armature when pilot

in one sweep test between 45 and 2000 Hz. Test was

signal is ON and OFF. (Value in the initial state)

A\ Caution

[ e e -

I Be sure to read this before handling the products.
! Refer to back page 50 for Safety Instructions and pages 3
1 to 9 for 3/4/5 Port Solenoid Valve Precautions.

How to Order Manifold Base

-y
1
1
1
]

-l

Same manifolds as SY series (Non plug-in type) are prepared.

(For 20, 41, 42 and 45 Types)

3 3
SSSYA;— Fill the same as SS5Y 3

(Refer to Best Pneumatics No. 1

EN)

= Specify the part numbers for valves and options together

beneath the manifold base part number.
<Example>
SS5YA5-42-03-02
= SYA5140
= SYA5240
+ SY5000-26-20A

1 set (Type 42, 3 station manifold base part no.)
1 set (Single air operated valve part no.)

1 set (Double air operated valve part no.)

1 set (Blanking plate assembly part no.)

"TThe asterisk denotes the symbol for assembly.
Prefix it to the part nos. of the solenoid valve, etc.
Note) When single body ported air operated valves are ordered, manifold mounting
screws and gaskets are not included. Order them separately if necessary.
(For details, refer to Best Pneumatics No. 1-1.)

Pilot Pressure Range
(Single pilot)

Pilot pressure MPa

0.6

Pilot pressure
range

05

0.4

0.3

0.2

0.1

02 03 04 05

Operating pressure MPa

0.6

1459



SYA3000/5000/7000 series

Flow Rate Characteristics/Weight

Model/SYA3[120 Series (Body ported)

T § Pilot Port size Flow rate characteristics Weight
Valve model ac‘:zzﬁ‘;n oo n' Zize 15 4/2(P > AB) 4/2 = 5/3 (A/B — EAJEB) (9'9)’
P,EAEB] A, B |Cldm¥(sbar)] b Cv Cldm¥(s-bar)] b Cv 9
2 Single 35
pookion] Double 0.61 0.44 0.16 0.64 0.45 0.18 -
Closed center 0.48 0.46 0.13 0.47 0.43 0.13
SYASE20MSY| | Exhaust M5x08| 47 0.42 0.13 0.47 [0.44] | 0.41[0.37] | 0.13[0.12]
Dosition_center 39
Pressure
Conter 0.50[0.41] | 0.48[0.35] | 0.15[0.11] 0.47 0.43 0.13
2 Single 44
pookion] Double 0.72 0.29 0.18 0.64 0.34 0.17 pr
Closed center| C4 0.59 0.28 0.15 0.59 0.30 0.15
SILEITEE | Bm“‘M“QSWXM<WWM 0.63 0.35 0.16 0.42[0.41] | 0.34[0.37] | 0.11[0.11]
bositionl_center fiting for a4, 48
i Pressure
Conter 0.76[0.46] | 0.42[0.34] | 0.21[0.12] 0.59 0.29 0.15
2 Single 40
pookion] Double 0.76 0.30 0.19 0.65 0.39 0.17 2
Closed center| C6 0.76 0.55 0.24 0.60 0.33 0.16
SYA30120-C6 Exhaust <0ne—louch >
3 | anter fing 0.65 0.32 0.16 064[0.42] | 031(036] | 0.17[011] |
i Pressure
Conter 0.77[0.49] | 0.34[0.43] | 0.21[0.15] 0.61 0.34 0.16
Note) [ ]: denotes normal position.
Model/SYA3140 Series (Base mounted)
T . Pil Flow rate characteristics M) e
Valve model ac‘:ﬂzﬁc’on o nl ‘s’itze Port size 1 4/2 (P — AB) 4/2  5/3 (A/B — EA/EB) Weight "¢
P Cldm®/(s-ban)] b Cv__ |Cldm¥(sban) b cv ©
2 Single 69 (34)
00501 [ Dorbis 1.0 0.30 0.24 1.1 0.30 0.26 71136)
Closed center 0.77 0.28 0.18 0.85 0.30 0.19
W 1,
SYASLK0-010)| , (Exhaust | M5x 0.8 s 073 0.31 0.18 1.1[055] | 0.26[0.52] | 0.24[0.16]
postion | _center 73 (38)
Pressure
Conter 1.2[051] | 0.24[0.45] | 0.29[0.14] 0.89 0.47 0.24
Note 1) [ ]: denotes normal position.

Note 2) ( ): Without sub-plate.

1460




5 Port Air Operated Valve S YA 3000/5000/7000 Series

Flow Rate Characteristics/Weight

Model/SYA5120 Series (Body ported)

- N Flow rate characteristics 5
Valve model W2d e PR EE 1 SRR 42 575 (N = EATEB) Weight
actuation  |portsizélp A FB[ A, B | Cldm¥(sbar)] Cv C [dme/(s-bar)] Cv @ -
2 Single 58
posttion| Doubls 1.9 0.35 0.49 24 0.39 0.61 oa
SYA50120-0100[ [ Closedcentr i 1.7 0.43 0.45 1.8 0.35 0.46
ssiion | ExtausLcenter 1.5 0.44 0.41 25[1.5] | 032[043] | 0590401 | 69 | |SYJA
P Pressure center 2.2[0.91] 0.46 [0.58] | 0.61[0.28] 1.8 0.38 0.46
2 |_Single 82
positon| Doubls 0.75 0.43 0.20 0.85 0.64 0.30 57 \V'ZA
SYA5120-C4 | [ Closedcenter One Iauch 0.74 0.40 0.19 0.84 0.57 0.28
postion | EXtaust center fitting for o4, 0.75 0.36 0.19 0.84[0.84] | 0.64[0.53] | 0.30[0.27] | 93 VFA
Pesswecener| s x 08| 14 0.7810.71] | 0.44[0.37] | 0.21[0.18] 0.84 0.57 0.27
2 Single . 76
positon| Double c6 1.5 0.33 0.33 2.0 0.37 0.52 5 VFRA
SYA5120-C6 | | Closedcente One-touch 1.3 0.31 0.33 1.6 0.32 0.39
| Exhaust center fitting for 6) 1.3 0.33 0.33 1.8[1.4] 0.35[0.37] | 0.44[0.35] 87
position 9
P f 1.7[0.80] | 0.31[0.47] | 0.42[0.23] 1.7 0.33 0.44 \IPA4
2 Single 68
osition| Dovbls 1.9 0.21 0.45 23 0.29 0.57 >4
SYA50020-C8 | , |Cosedcener One tauch 16 0.29 0.39 1.7 0.38 0.46 SYJA
[ Exhaust center fiting for 08 1.4 0.38 0.39 2.0[1.5] |0.37[0.40] [ 0.52(0.43] | 79
position 9
Pressure center 2.2[1.6] | 0.32[0.44] | 0.56[0.44] 1.8 0.41 0.50 VZA
Note) [ ]: denotes normal position.
Model/SYA5[140 Series (Base mounted) VGA
¥ Flow rate characteristics Note ) L Noe2)
Valve model T’;peﬁ‘"n Fr’""’i‘z Port size 1542 (P > AB) 4/2  5/3 (AIB — EAJEB) Wt =
actuatio port size C [dm¥(s-bar)] b Cv C [dm3¥(s-bar)] b Cv © VPA
2 | Single 105 (42)
oclion Dowbls 2.4 0.41 0.64 2.8 0.29 0.66 110 (47) VPA3
SYA5040-020)[ [ Cesedoenter| M5 x 0.8 Va 1.8 0.47 0.50 1.8 0.40 0.47
ition Exhaust center 1.4 0.55 0.44 3.0[1.2] 0.33[0.48] | 0.72[0.37] | 115 (52)
positon]p " 3.3[0.84] | 0.36[0.60] | 0.85[0.28] 1.8 0.40 0.48
Note 1) [ ]: denotes the normal position.
Note 2) (): denotes without sub-plate.
Model/SYA7[120 Series (Body ported)
" . Flow rate characteristics i
Vavemodel | ¥Peol | Piot | Portsize 142 AB) 4/2 — 5/3 (AJB = EAJEB) R
P P.EA.EB[ A.B | Cldm¥/(shar)] Cv Cldm¥(s bar) | b Cv 9
2 | Single | 41 023 0.93 33 033 0.81 94
position| Double 100
SYA70120-0200[ | Gosed center Ya 2.9 0.31 0.70 24 0.38 0.63
tion | Exhaus center 25 0.39 0.65 3.4[21] |0.35[0.38] | 0.82[0.54] | 110
posttonfp 1 P port: 4.3[2.4] | 0.23[0.32] | 0.97[0.61] 22 0.39 0.58
2 Single : 100
osition| Doubls s 3.2 0.26 0.77 3.2 0.37 0.82 106
SYA7[]20-C8 3 Closed center | M5 x 0.8 One much 2.6 0.24 0.63 2.4 0.31 0.62
osiion | EX1eustcener - fiting for 08 2.4 0.25 0.57 2.6[1.9] | 0.42[0.46] | 0.70[0.56] | 116
P Pressure center 16 port 3.3[2.4] | 0.28[0.22] | 0.78[0.57] 2.2 0.34 0.60
2 Single . 97
osition Doubls c1o0 3.8 0.26 0.86 3.2 0.34 0.82 103
SYA70120-C10 3 Closed center One-touch | 2.8 0.27 0.67 2.4 0.21 0.59
osition Exhaust center fting for of0) 25 0.25 0.59 2.7[2.0] 0.38[0.38] | 0.70[0.56] 113
P P 3.8[2.4] | 0.25[0.31] | 0.89[0.61] 2.3 0.38 0.61
Note) [ ]: denotes normal position.
Model/SYA7140 Series (Base mounted)
y Flow rate characteristics Nt 1 .
Valve model W2 Piot | Portsize {42 P AB) 42 ~> 5/3 (A/B — EA/EB) Weight 12
actuation port size C [dm?/(s-bar] Cv C [am(s-ban)] b Cv ©
2 | _Single 202 (73)
posiion| Double 41 041 i 41 029 1.0 210 (81)
SYA7040-020)[ | Gesed center Va 3.0 0.43 0.80 2.6 0.41 0.72
on E20aUSLcener 26 0.42 0.71 47[1.7] | 0.35[0.48] 1[0.49] | 218 (89)
POSHON pressrecenter| 115 0. 5.3[2.3] | 0.39[0.49] | 1.3[0.65] 22 0.49 0.63
2 |_Single ’ 202 (73)
position| Double 49 029 12 45 027 11 210 (81)
SYA70140-03 3 Closed center 38 3.0 0.40 0.80 2.6 0.45 0.73
[ Exhaust center 26 0.42 0.71 48[1.7] | 0.35[0.48] | 1.1[0.49] | 218 (89)
osition
P Pressure center 5.3[2.3] 0.31[0.51] 1.3[0.64] 2.3 0.45 0.66
Note 1) [ ]: denotes the normal position.

Note 2) ( ): denotes without sub-plate.

1461



SYA3000/5000/7000 series

Dimensions/SYA3000 Series: Body Ported

2 position single
SYA3120- ¢4 N3(-F2)

C6, N7
49.6 One-touch fitting
44 (A, Bport)
M_5 x0.8 Applicable tubing O.D.: 04, 01/4"
(Pilot port) EESps, oyF S Z Q 06, 95/32"
FAT N
VA
2x02.2
102 (For manifold mounting)
214
(2 x 93.2 for mounting) 85
@n &
)
=t
. -
T T tF
| | I i
i o | = |
| & i t 1h ]
8 8 ! | | g
= ol v
& 1 I o| ©
- e [ Tl
T T
Manual override 225
(Non-locking)
3

(Ventilation hole) 1

e
11

10
(15)

M5x0.8
(P, EA, EB port)

2 x #1.5 die-cast hole
(For manifold gasket positioning)

1462

Foot bracket
SYA3120- 53 N3-F1

Manual override

(Non-locking) @
}
QTSN ol g
LTI |l E
il
2x03.2
10 (For mounting)
31 35
38
21.8
T @
18.5 7.5
@2 | | 411
SYA3120-M5
M5 x 0.8
(A, B port)
V[ S A
R “ HEE:
T
225




5 Port Air Operated Valve S YA3000/5000/7000 Series

Dimensions/SYA3000 Series: Body Ported

2 position double

SYA3220- gg: N% (-F2) One-touch fitting
M5 x 0.8 ‘ (A, B port)
- - Applicable tubing 0.D.: 04, 01/4"
(Pilot port) = ° 06, 05/32"
Fan
™~
2x022
102 (For manifold mounting)

a
<
4 \
| s
1
Manual override
Worioding ) R R 3 SYA3220-M5
=1 -
. | g
QI & i g
- | ! M5 x 0.8
A, B port
013 ( port)
(Ventilation hole) P o
Iy § 0 N
2 ! o
& I g &
2 x #1.5 die-cast hole ‘ I .
(For manifold gasket positioning) T T
(P, EA, EB port)
3 posigion closed center / exhaust center / pressure center
C4, N3
SYA3320-G% N2 (-F2) 627
27.1
s - One-touch fitting
- (A, B port)
M \ppli tubing 0.D.: 04, 01/4"
(Pilot port) o= -t E] 06, 05/32"
Z Iy
R [ ¥
0.2 J 2x022
214 (For manifold mounting)
§
e
\ :
H pﬁﬁﬁ e
1 I
) Ly ‘Lh |
Manual override
I T
(Non-locking) ; [“ I ]. ! ‘|| | 1 @ 3
. | 3 SYA3i20-M5
s | 2 5
e | -
1 M5 x 0.8
(A, B port)
013 ] P
(Ventilation hole) — ° et I l Ll /0
o = i t i
= - 2 bl | 1 @ P
& 1 of ©
i . ‘ | £
2 x #1.5 die-cast hole f
(For manifold gasket positioning) M5 x 0.8

(P, EA, EB port)

1463

2
=

ow
=<
Co

=
N
=

=== ]|l<
NS 23||m
=E|(E|2|=

S
=

=
D
=

3
=

s
=
()



SYA3000/5000/7000 series

Dimensions/SYA3000 Series: Base Mounted

146 _13.25_
2 position single
0
SYA3140-01C] ¢
{-r} ~< + }—
] ]
[
!
35 49.6 2x03.2
Manual override “ (For mounting)
19 (Non-locking)
35 5
\ : i
@) ® 5H
—ofs Pl
D
P _Eg
M5 x 0.8
(Pilot port) 4 2
1
[
I
o |
@ I
/ f"} g
0
3 = / I }k { %
2 SR IRT!
. 1
Ventilation hole 205 m
145 13.25
2 position double
SYA3240-01] 3
O
— TE
]
[} ]
! JC1e ]
s 542
43 __2x032
10 Manual override (For mounting)
(Non-locking) 38 3
it}
\® © PO { 1
—| | - I rany 9
|
2 & &
M5 x 0.8 I
(Pilot port) 41
—
L L
1 H I
o
¢ Jan)
2 \J
1D D
< 4
k LY
Ventilation hole K 11 11
205 .18
(Piping port)

1464



5 Port Air Operated Valve S YA3000/5000/7000 Series

Dimensions/SYA3000 Series: Base Mounted

3 posigion closed center / exhaust center / pressure center
SYA3g40-01 O

145 _ 1325
©
2|
{ + } { +>——-
— —
1
' :
WL
35
627
Manual override 2x03.2
19 (Non-locking) 35 3 (For mounting)
i
[c € !
ﬂ.___.Q_ ¢ o _ | T 8
r Lol |
® [ ]
M5 x 0.8 4‘2 9.5
(Pilot port)
15.1
i i
1
@ f |
<
. &)
I / f'} @
© / tJ 1
2 11 11
- 1/8
Ventilation hole 205 —
a (Piping port)

1465

« I
= |3
=l =

=
N
>

=
=

EHIE
r_;:ﬂ
= &= | =

=
N
=

S
=

S|S
==

s
=
()



SYA3000/5000/7000 series

Dimensions/SYA5000 Series: Body Ported

2 position single Foot bracket
C4, N3 C4, N3
SYA5120- cs N7 0(-F2) SYAS51 20-83’ N; O-F1
70.6 ’
47
63.1
M5 x 0.8 L © 38
(Pilot port) ’ T i bl
BN BYGNGNS Y
A > ~ 1
BN n @ ﬁlh o o
145 LL }J e
One-touch fitting 36 2x03.2 r
(A, B port i
App\icabl(e tubinngHD.: 04, 05/32" (For manffold mouniing) . 11.5
06, 05/16" Normal override - 2x03.2
08, 01/4" (Non-locking) (For mounting)
25
(45) 2x@3.2
(For mounting) =)
@37 & R
5 :
== ===
| 1
" == | /=Y -
L o5 H N ﬂ o
. 43 T i 3 ’ )
s o 3| 8 ! ; s -
j D 8 | g = ®
Ha { g
1
Manual override 323 -
(Non-locking) ¥
(4.9) 40.4 ‘ 10.5
018 272
(Ventilation hole) o &
N T o A v
el 8
> V-Kaffgsl
2 x @2.2 die-cast hole
(For manifold gasket positioning) 1/8
(P, EA, EB port)
SYA5120-010]
1/8
162 (A, B port)
=)
[Ty [ 1]
D i -
& | | o ' 3
1K
T
323

1466



5 Port Air Operated Valve S YA3000/5000/7000 Series

Dimensions/SYA5000 Series: Body Ported

T N e

2 position double

SYA5220- &6, N I(-F2)
C8,N9

2

76.6
61.6
M5 x 0.8 ; . o
(Pilot port) ‘ﬁﬁf 5 =
=
\?\ (a1 PN
s GLT
One-touch fitting 145 2x03.2
A, B port i i
Appl\cab\(e tubm% O).D.: 04, 05/32" 6 (For manifold mounfing)
06, 01/4"
08,05/16" 145) 2x03.2
@ (For mounting) g
e =
A ! F i
=l | =5
== B =
B e D i i g
| 1
T
272 18
Manual override 01.8 - (P, EA, EB port) ®
(Non-locking) ~ (Ventilation hole) ‘ el o
Y A A AL "
T -
s B\ ;

2 x 92.2 die-cast hole

(For manifold gasket positioning)

3 posigion g!‘oagd center / exhaust center / pressure center
SYAS5120-Ce, N7 [1(-F2)
5  C8N9

SYA5220-0101

16.2

1/8
/" (A, B port)

2
=

20.5

ow
=<
Co

25
325

=
N
=

SYA5 320-01 O

16.2

1/8
(A, B port)

=== ]|l<
NS 23||m
=E|(E|2|=

S
=

=
D
=

3
=

s
=
()

325

20.5
25

. ﬂ(*: =
2 x @2.2 die-cast hole '

89.2
2xM5x0.8 308 434 .
(Pilot port) - , =
1
5 Ll Na Y
BT/ Y
145 2x03.2
One-touch fitin 36 (For manifold mounting)
(A, B port)
Applicable tubing 0.D.: @4, 05/32" 2% 032
06, o1/4" . &
08, 05/16" (For mounting) =
= SR
* SERERE
i A I
I o B
@ - g i | 3
8 | 2l g
&
o | i
i T
Manual override 83
(Non-locking) 272
018 o 2
(Ventilation hole) 5 -
3 [ L .
o~

(For manifold gasket positioning)

AN/ ®
' ; 1/8

(P, EA, EB port)

1467



SYA3000/5000/7000 series

Dimensions/SYA5000 Series: Base Mounted

2 position single
SYA5140-02]

34

Manual override
(Non-locking)

2 position double
SYA5240-02(]

Sy
” ®

N

'/ Manual override
(Non-locking)

1468

2x04.3 708
(For mounting) 63.1
o 48 83
r | {
<
i) QH—
o .
j I
il A ’
A
M5x0.8 56 43
(Pilot port)
T
| I
L
M/ 8
i &
3
[ 18 18 | 1/4
28 (Piping port)
18 19
A —
@ B
L S
g |
o
I g
7 T
76.6
__2x043
(For mounting) 61.6
48
L1
& W
S e ;
Fan) {19 { =l M g
)l - B
T o
M5 x 0.8 @
(Pilot port)
56
—

Ventilation hole /

1/4

(Piping port)




5 Port Air Operated Valve S YA3000/5000/7000 Series

Dimensions/SYA5000 Series: Base Mounted

3 position closed center / exhaust center / pressure center

SYA5§40-02D

47.5

34

15.5

PO

i\
-

Manual override
(Non-locking)

95

H———H

2x04.3
F ti
(For mounting) " B
: | :
<
o) ® ) ¥
o QE, l @ Fan @
il D - hill .
oY
[ @
M5x0.8
(Pilot port) 58.8 15.4
22.9

Ventilation hole |

1/4
(Piping port)

1469

2
=

2}
=<
e
=

===l
N[ 23 N
SIEIEIE|Z2Z2|B

=
D
=

==
2|
S| =



SYA3000/5000/7000 series

Dimensions/SYA7000 Series: Body Ported

2 position single
SYA7120-88,N310(-F2)

Foot bracket
SYA7120-88,N34 -F1

57

87.5
46
M5 x 0.8 77.5
(Pilot port) 1
ez===m) e &
ey
N 7SSy 3 H_d [ 9 ol g
| e I el |
One-touch fitting 19 2x04.2 Sl
(A, B port) 42 (For manifold Manual override 15 |7 2x04.2
Applicable tubing O.D.: 28, 25/16" mounting) (For mounting)
010, 03/8"
(66)
2x04.2 (52) @
(For mounting) Lo
| === 30
o | | © |
29 | P 3
I 8 38 4 i
[t} S -
‘HjEr % 2
Manual override 39.4 H - D 2
018 1/4 =
(Breathing hole) (P port) o Sl
(=}
Y
[N ] R0 [ f5 f
] (5.5) 47.6 125
L peead o Keb | 8
S 15 Bk I Y N
2 x 92.2 die-cast hole 36 1/8
(For manifold gasket positioning) (EA, EB port)
SYA7120-0201(-F2)
1/4
(A, B port)
20
[ 1 [
L [
A= s
O
|
i g
8 g &
o
39.4

1470




5 Port Air Operated Valve S YA 3000/5000/7000 Series

Dimensions/SYA7000 Series: Body Ported

2 position double
SYA7220- &,N%110-(F2)

96.2
2xM5x0.8 76.2
(Pilot port) ©
e T e ©
T
N fg\g i
15 N
One-touch fitting 19 \ 2x04.2
(A, B port) 42 (For manifold mounting)
Applicable tubing O.D.: 08, ©5/16"
210, 03/8"
(66)
2x04.2 (52) Q)
(For mounting) E)
. =
ARARAE;
8 - | o
Bl i 5
I g ©
Lo :
0 o
- Ret
Manual override\
2x01.8 1/4 .
(Breathing hole) (P port) ©
o
[N ] R [ .f4]
‘ \?{Z} e K [t g
oo (5 S| .
=== T
2 x 2.2 die-cast hole 36 1/8
(For manifold gasket positioning) (EA, EB port)

3 position closed center / exhaust center / pressure center

SYA7220-&3'\,0-(F2)

109.7
48.1
2xM5x0.8 38.1 51.6
(Pilot port) ©
e====m by P — o
1 s S—111 T A
ST NN
[l N/ -
One-touch fitting 19 \ 2x04.2
(A, B port) 4 (For manifold mounting)
Applicable tubing O.D.: 08, 05/16"
210, 23/8"
(66)
2x04.2 (52) @l
(For mounting) Q|
== =
| AL j 8
i £ Ry
i
3 @ | °
| 3 [P g
i 8 @
B a
Manual override
2x01.8 1/4
(Breathing hole) (P port) 3
[N K9 ] [ ol 5
‘ L#{é EA P Hes| | [t g
i 5 7 S=pim-
2 x 2.2 die-cast hole 36 1/8
(For manifold gasket positioning) (EA, EB port)

i

2}
=<
e
=

=
N
>

=
=

HE
==l
- E:

SYJA
SYA7220-0201-(F2) 1/4 VZA
(A, B port)
I 1 % 7 ‘ITA
Niismmns i VGA
8 o[ || |VPA
o o
VPA3
SYA7§20-02D-(F2)
1/4
(A, B port)
,,,,, 20 ————,
A T e
Ll i

1471



SYA3000/5000/7000 series

Dimensions/SYA7000 Series: Base Mounted

2 position single
SYA7140-3200

2 position double
SYA7240- 301

3/8, 1/4

0
(A, B port) sv_)
ARVan
NPANP
izg
|
57 775
42 61 10.4
E— M5 x 0.8 \iw
o (Pilot port) { - v e
Wiz DN I — o ¢
I Y
Manual override [ ‘ EA P EB
21 69 6.4
2x04.3
(For mounting) 87.5
72y (==
T
ws /AN
(Ventilation hole) N N\ «
3/8, 1/4 205 | 205 22
(P, EA, EB port) 33 ML
3/8, 1/4 21 225
(A, B port) (vv_)
AnVan)
NPANP
izg
S5 it
57 711 5.1
42 61 4
—_— 2xM5x0.8 \rL
o (Pilot port) { ﬁ“v 8 &
TS DYIILE ool
I &l
Manual override [ j EA P EB
21 69 15.1
2x04.3
(For mounting) 962
72y (==
ReE}
T
2x01.8 // /;§\,, \ b
(Ventilation hole) kj kJ ~
3/8, 1/4 205_|_205 23
(P, EA, EB port) 33 -

1472




5 Port Air Operated Valve S YA 3000/5000/7000 Series

Dimensions/SYA7000 Series: Base Mounted

3 position closed center / exhaust center / pressure center

3
st7g4o-g§D

57

3/8, 1/4

&/

B ‘
O 3d 9

f Manual override

w0
(A, B port) o
ANVan
\J\J |
123
S5 9
711 18.6
2xM5x0.8 61 4
(Pilot port) ‘
7
{ v a \d
<
LTS [ T34
I &1
[ ) EA P EB
2x 043 69 286
(For mounting) 100.7
g BT
Rzt
T
2x01.8 / /4h\ D VRN b
(Ventilation hole) S\\ W W/ N\ &
3/8, 1/4 205 | 205 i 4
(P, EA, EB port) a3 T

1473

wlli=l=ll<sl<l<| KR
<|(|Z|IJT|AIN|=
2#2z5¢H

HHBE
=== >

]
=
w



	5 Port Air Operated Valve: SYA3000/5000/7000 Series
	How to Order
	Specifications, How to Order Manifold Base
	Flow Rate Characteristics/Weight
	Dimensions/SYA3000 (Body Ported)
	Dimensions/SYA3000 (Base Mounted)
	Dimensions/SYA5000 (Body Ported)
	Dimensions/SYA5000 (Base Mounted)
	Dimensions/SYA7000 (Body Ported)
	Dimensions/SYA7000 (Base Mounted)

